2025/08/20 18:29 1/3

ooooogos

oot s

oot

U1

P2000 0000

O0000001000000000 $fix)$p0 0000000000

o $f 1(x)=(1+x"6+x"{12}+\cdots)=\frac{1}{1-x~6}$

e $f 2(x)=(1+x+x"2+\cdots+x"9)=\frac{1-x"~ {10} } {1-x}$

e $f 3(x)=(1+x+x"2+\cdots+x"5)=\frac{1-x"6}{1-x}$

e $f 4(x)=(1+x"4+x"8+\cdots)=\frac{1}{1-x"4}$

e $f 5(x)=(1+x+x"2+\cdots+x"7)=\frac{1-x"8}{1-x}$

e $f 6(X)=(1+x"2+x"4+\cdots)=\frac{1}{1-x"2}$

e $f 7(x)=(1+x)=\frac{1-x"2}{1-x}$

e $f 8(x)=(1+x"8+x"{16}+\cdots)=\frac{1}{1-x"8}$

e $f 9(x)=(1+x"{10}+x" {20} +\cdots)=\frac{1}{1-x~{10}}$

o $f {10} (x)=(1+x+x"2+x"3)=\frac{1-x"4}{1-x}$

$\displaystyle f(x)=\prod_{i=1}"{10}f i(x)=\frac{1}{(1-
x)"~5}=\sum_{n=0}"{\infty\binom{n+4}{n}x"n$

$\displaystyle ans_n=\binom{n+4}{4}=\frac{(n+4)(n+3)(n+2)(n+1)}{24}$
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C++000

#include<bits/stdc++.h>
using namespace std;
const int N=5e6+5,P= ,G=3,Gi= :
typedef long long 11;
int rev[N];
char s[NJ;
1l n1[N!,n2[N/,n3[N!,n4[N];
11 fastpow(1l x,1l y
11 ret=1;
7Y y=>=1, X=x*x%P
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y& ret=ret*x%P;
ret;

void NTT(1ll *y,int len,int on
int i=0;i<len;i++
i<rev|i
swap(y/il,ylrev|i ;
int mid=1;mid<len;mid<<=
11 wn=fastpow(on==17G:G1i, (P-1)/(mid<< C
int j=0;j<len;j+=(mid<<
11 w=1;
int k=0;k<mid;k++, w=w*wn%P
1l u=y|j+k],t=w*y| j+k+mid|%P;
ylj+k]=(u+t)%P;
y!j+k+mid | =(u-t+P)%P;

11 cIN]J;
void mul(1l *a,1l *b,int &n,int &m
int i=0;i<=n;i++) alil%=P;
int i=0;i<=m;i++) b[i]%=P;
int len=1,1=0;
len<=n+m) len<<=1, l++;

int i=0;i<len;i++) rev[i]=(rev[i>>1]>>1) | ((1i&1)<<(1- ;
NTT(a,len,1);
NTT(b,len,1);

int i=0;i<len;i++) alil=alil*b[i]|%P;
NTT(a,len,-1);

1l inv=fastpow(len,P-2);

memset(c,0,sizeof(c));
int i=0;i<=n+m;i++
alil=alil*inv%P;

clil+=alil;
cl[i+l]+=c[i]/10;
c[i]%=10;
cln+m+ nN++;
int i=0;i<=n+m;i++) alil=cli];
n=n+m;
1l ans[NI;
int main

scanf("%s",s);
int n=strlen(s);
n--;
int lenl=n,len2=n,len3=n, lend=n;
int i=0;i<=n;i++) nl[il=n2[il=n3[il=n4[il=s[n-i]-'0";
nl +=1;
n2 +=2;
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n3 +=3;

n4 +=4;
int i=0;i<=n;i++
nl[i+l]+=nl[i]1/10;
nllil%=10;
N2 i+1|+=n2[11/10;
n2[i]%=10;
n3[i+1]+=n3[11/10;
n3[il%=10;
nd i+l ]+=n4[1i1/10;
ndl[il%=10;

nl[n+ lenl++;
n2[n+ len2++;
n3|n+ len3++;
nd [ n+ lend++;

mul(nl,n2,lenl,len2);
mul(nl,n3,lenl, len3);
mul(nl,n4,lenl,lend);

1l p=0;

int lenans=0;
int i=lenl;i>=0;1i--
p=p*10+nli];
ans|il=p/24;
p%=24;

ans|i!&&!1lenans) lenans=i;

int i=lenans;i>=0;1i--
printf("slld",ans[1i]);

1

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:Igwza: %E7%94%9F %E6%88%90%E5%87%BD%E6%95%B0%E7%90%86%E8%AE%BA_5_%E4%B8%80%E4%BA%9IB%E4%BE%8B%E5%AD%90&rev=161391239.

Last update: 2021/02/21 20:59

CVBB ACM Team - https://wiki.cvbbacm.com/


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:lgwza:%E7%94%9F%E6%88%90%E5%87%BD%E6%95%B0%E7%90%86%E8%AE%BA_5_%E4%B8%80%E4%BA%9B%E4%BE%8B%E5%AD%90&rev=1613912393

	生成函数理论 5
	基本应用
	例 1



